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Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her
age. / Tl safeq &1 i @i 3t = | DT 3mg ¥ faurfora 39 afd
4l 3T F SIUTT A S=ITar SIraT 31

1. Real Intentional, Stereotyping / aEdTd® 3306, TEIRIATCISA
2. Chronological, Neurological/ EFIT*I'@'&F@EF, rafas

3. Chronological, Mental/ chloilngfd\-lch, HATATHD

4, Mental, Chronological/ HTI T, WW?S

Correct Answer :-

» Mental, Chronological/ AT, ZFIFH@EF@EF»

2) Which genetic problem is associated with heart defects? / TGU R & Ty i H
STITIRIH THT 52

1. Turner’s syndrome / € f&igteT

2. Down’s syndrome / 313 TSI

3. Autism / e

4. ADHD / TSIuds!

Correct Answer :-

« Down’s syndrome / 3151 &8I

3) Which of the following age ranges is considered early childhood? / Fafafea A 9 fva 3 T
@ URFIS SEU=T AT 1T 82

L.7t011/7 8 11
2.Birthto 2/ SleH & 2

3.3t012 / 38 12
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42t 6/2 F 6

Correct Answer :-

«21t06/2 " 6

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / CLTICE:]

TE S TR 0 P T 73 S A 5@ & Bleq BT o 30PT TP IS0 8
1. Long-term memory / &rEI-ahTel Toffc

2. Episodic memory / UTHTAIeR T

3. Immediate memory / dcehlel TTc

4. Sensory memory / TGl T icl

Correct Answer :-

« Immediate memory / dclel F‘iia

5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of
nested environmental systems that are also called q'lﬁ'@-l'ﬁ_cb' TOTTer ﬁl?x'l?l'

it a1 =0 ¥ I B9 gRI duR fbar T g, Wwaﬁ@swhwwmﬁ
fféy w1 3 g Wt BT S 21

1. Influential conceptualization/ THTARATST FTTUROT

2. Human development/ #Td Tdepra
3. Human ecology/ AT UTRTEA ]
4. Intellectual development/ difge Taemrer

Correct Answer :~-

« Human ecology/ A UTREA D]

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or

cultural goals is called ____ . /#T @&t &Y 30X FaT AT 37 IMhrersh aadl & Gof: TR e,
N HFAT FelleAH, i AT AEpfas AT 9 & Fgarar 8

1. " Sublimation / 3&TTepIOT

2. Compensation / HfcienioT

3. Affiliation / HIU

Page- 2



4, Rationalization / WUT

Correct Answer :-

« Sublimation / 3&RITIOT

7) Which of the following agencies is responsible for preparing curriculum framework for
school education in India? / fAwifaf@a & @ w7 A oI, e 7 Txel Rew F v IToTHFA
TRAT TR F & AT Seaar &2

1. NCERT
2. NEUPA
3. NCTE
4. RCI

Correct Answer :-

« NCERT

8) Law of Readiness highlights the need of before learning. / Tl T
s, st a @ i sraeashar 1 yehTer see g

1. Experience / 3gHd

2. Reinforcement / gﬂéﬂ?

3. Practice / 7&I1H
4. Maturation / GRUaFddT

Correct Answer :-

. Maturation / UTRTeradr

9) What is the ‘magic number’ according to Miller’s theory on chunking? / 9fFT W AR F ﬁ'c"fl'l?l'
& AR ATTF AqC FAT §?

1. 2 (+/-3)
2.9 (+-1)
3.5 (+-2)

4.7 (+/-2)
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Correct Answer :-

o 7(+-2)

10) What type of Gardner’s multiple intelligences is used during a dance performance? / oJcd el &
GRIET, TSR & fFF YR & 9§ JEf0aar &1 39T fHar S g2

1. Naturalistic intelligence / Uipfae g
2. Intrapersonal intelligence / 3cRTdAThe E_{'@'
3. Linguistic intelligence / HNNETT g

4. Bodily-kinesthetic intelligence / MIReR-TIHAET i

Correct Answer :-

« Bodily-kinesthetic intelligence / TRIRG-ITTATAGT @ﬁ’a’

11) What do individuals scoring highly on neuroticism experience? / Wﬂ!}ﬁ'ﬂ' (Fﬂs\m) EGLES #,
SfFd F WA FAT HTHT Fram 87

1. Uncontrollable happiness/ 3faafEd ydeedar

2. Mixed emotions/ AT g

3. High stress and anxiety/ 3Td deid 3R galiee
4. Positivity/ HRRIcHBAT

Correct Answer :-

o High stress and anxiety/ 3d dad 3R geRTec

12) As a teacher, what is the best way to help students in a problematic situation? / U ReTF & T
H, gAERRET UfY & ol fY A w0 FT GaU 3OT dlaT 74T 87

1. By reward / 3T a
2. By punishment /&% &}

3. By providing solution / T UGl &ch

4. By giving similar type of problem to solve / & &R+ & T T UHR B! THRT TH

Correct Answer :-

« By giving similar type of problem to solve / &d P & o S UBR & 0T TR
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13) Children start experiencing peer group influence by around the age of: / §T1 GETIEL) gH Y
¥ WeHHl THF THIT FT ITHT FT YT FT 4 &

1. Five years / O/g ay
2. Four years / IR ay
3. Three years / il a§

4. Six years / ag

Correct Answer :-

+ Three years / diel Iy

14) Which of the following is not a characteristic of working memory? / fefafad & @ sia @

o T (affer A Fr R[evar a8 82
1. Tt involves rehearsal / 9H Reda Aw g1

2. It is permanent / HEW%I

3. Itis active / Ig GhT §l

4. It involves manipulation / E»'FI?-T Siis-dis anfae %l

Correct Answer :-

o Itis permanent / HEW%I

15) Which of the following best describes ‘learning’? / fRAFafaf@d & & Hla-ar 3T F1 I
3THT quieT FIAT 82

1. The process of acquiring knowledge and skills through listening to the teacher. / f1&Te T grlc-\l & HATCIH
O <A 3 I UTE Yl gfsha|

2. The process of gaining facts and information through rote memorization. / el TEIROT & ACTH F dzar

3R FFPRT UTd FA S gieham|

3. The process of gathering information by reading and writing. / Ugel 3R for@at & forw SaaR) Shcol
el T glshar|

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ U=l TIaR, 31gHal, HeTT, $igAT AR ASMOT & ACIH § A, BivreT 3R
fAuera g w61 gfehar

Correct Answer :-

« The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 39l TR, 3-]73’34?.ﬁ, 37, 3fgt 3R ATSHIOT & ATTH T A, Bl 3R
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Auera utg & & ufhar

16) Which of the following stages of psychosocial development do not occur in childhood? / FAAIFAR
e & Prafaf@a @l # & Fia a1 awor 99 7 78 g 82

1. Autonomy vs. shame / FITIAAT TATH A
2. Trust vs. mistrust / I a1 3t
3. Intimacy vs. isolation / AT FeTH 37el9Td

4, Initiative vs. guilt / Ugel IATH JUY g

Correct Answer :-

« Intimacy vs. isolation / 3cRITAT TATH 3HelINd

17) Which of the following embodies the idea that individuals learn through experience? / IGLoIGIEE]
# @ T W AR AF T A1 § 9 3T F AeqdA § afod daar 82

1. Universality / IITYhdT
2. Nature / Upfd

3. Nurture / QIooT

4. Determinism / faafdarg

Correct Answer :-

e Nurture / TGIYUT

18) Physical development in the child slows down by the age range of: / T # aRi® [ @A
g der 7 el g S g

1. 6-9 years / 6-9 a§
2. 3-4 years / 3-4 a9
3. 5-6 years / 5-6aY

4. 4-5 years / 4-5 a9

Correct Answer :-

o 5-6years / 5-6aY

19) Language of word is not necessary for: / qsal #Y MY 3TF AT JTaTF LT §:
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1. Conceptual thinking / =R Teide
2. Perceptual thinking / 3GYRUTcAS Kidet
3. Imaginative thinking / Heuareie foidet

4. Associative thinking / Tead Riaa

Correct Answer :-

o Imaginative thinking / &euameler a=

20) While Piaget gave importance to biological factors governing development, Vygotsky ascribed

importance to /ﬁmﬁﬁﬁmaﬁﬁmﬁammﬁﬁmmaﬁmm,
FafF aBAEHT o SUF AGed ST HRUT AT

1. Thinking process / fider ufsrar
2. Social interaction / ATHATOIE TUH
3. Physical factors / $iifde HRE

4, Environmental factors / GaTaoliT &

Correct Answer :-

« Social interaction / TTHATTSP HUH

21) Students from underprivileged background are facing learning difficulty. Most likely factor that is
affecting them is -/ T TR & BHEl F W@ H FEAE FT AT FIE I35 @ 8
I WG FREF S 3% GofAd I W a@ X -

1. Individual needs/ SafdRTd TIIHATY
2. Lack of sleep/ =i, el &l

3. Stress/ deld

4. Cognitive capabilities/ TATATCHD &THT

Correct Answer :-

« Individual needs/ TFITd MTIHATY

22) MBTI’s approach for a personality assessment is ./ SqfFdea H‘\?Jlﬁ' & fAT TAAEENS F1
TfSeror gl

1. Perception/ YU

2. Projective/ G0
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3. Structured/ TG
4. Judging/ 3TiehelT

Correct Answer :-

o Structured/ I

23) The theory of Constructivism was propounded by ./ #oag @1 g & @I
gfaurfed f&am o/ A

1. Erikson / TReFge

2. Bandura / ET%'\'T

3. Vygotsky / aTEIMcEd]
4. Kohlberg / PGl

Correct Answer :-

« Vygotsky / arsalicEh]

24) When new ideas are incorporated into existing ideas they are known as ./ 9 AT ARt Y
Hiorer =t 7 enfae forar aran 8, @Y 3% & T A ST AT 8

1. Accommodation / 3leJqelel
2. Replication / UTdpfaae

3. Assimilation / ATcHIATIDIYI

4. Reproduction / JeI®cUTcel

Correct Answer :-
e Assimilation / 3MTcHIATIRIOT

25) Using our phones while driving is an example of what kind of attention? / 33T FII TAT §AN
BT FT ITANT FIT 6T THR & HIUTT HT UF 366707 87

1. Signal attention / R s@u™
2. Diffuse attention / Ta&dd 3raur=
3. Selective attention / JTATcHD LA

4, Divided attention / TI9F 3G

Correct Answer :-
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« Divided attention / Td%=F a4l

26) students with learning disabilities have significant in a school related
area such as reading, writing, reasoning, listening or math’s. / @t &Y 31879 4T
arel BT H Fhe ¥ Fafd & AR ggaT, frEaT, aF HI@, A1 A7 Ao
# HAgeaqor Grikd

1. Grasping / §HAS

2. Knowledge / STTeTehIRY

3. Problems / FHEATT

4, Difficulties / SfsamSaT

Correct Answer :-

« Difficulties / EF%H‘I?RJT

27) Which of the following approaches to motivation does not rely on an intrinsic source?/

o & e o f@a & ¥ ol a1 eicaor v saRe glg W AR g Fwar g
1. Cognitive / TS

2. Humanistic /HATAaamer

3. Behavioural / SII&RATET

4. Socio-cultural / GHATS-HIERH T

Correct Answer :-

« Behavioural / SIdeRATE!

28) Failure in performance is an essential part of Child learning process because: / oo & THFBeldl,
T=X & e fr ufpar &1 v A Rear & Faitn:

1. it helps in developing self awareness. / T& 31Tcd STOTRGAT AR Hlel H FASE AT ©l

2. it prepares children for unpleasant experiences. / I d<dl &I ?{)\' 31’@’94747 ¥ o IR At §1
3. it helps student in re examination. / Ig Yed: WeT & ST A Ace Hdl %I

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / IJg&
I<al B IHSA & forw Tk Ja1ar § b e, 91 a1 orer o, 3¢ 39 & g 7
HAgcaqul &
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Correct Answer :-

» it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / J&

gl BT AT & [T GAF d1aT & 6 ST, g1 A1 BIeT T, 3 A9 &6 gT &
Hecayut ¥l

29) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? /

AN, v Tsfie BERT X Fwdl 1 I8 FIT AHIR wleqor i FFw @A 71 g5F 2
1. Clericalthinking/aﬂ?ﬁ?mﬂ (fafdhrr) R”iaa

2. Logical thinking/ @& QIfeh

3. Organisational thinking/ TITSATcHG fidd

4. Numerical thinking/3-i'cﬁ IEGGH

Correct Answer :-

« Logical thinking/ < QIR

30) Which of these could be a cause for GDD?

/ ST @ FiT-ar SEE & T v FROT & Fhar 82

1. Childhood infection / S<Uel & HehaAUl
2. Childhood obesity / &adel @ Hierar
3. Strict parenting / T&d XA

4. Excessive intake of sugar and additives/ @il 3R ufsfeca &1 3cafd daa

Correct Answer :-
« Childhood infection / S9UT T HehaToT

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

Tour-- is beneficial to the economy of any nation.

1. —-ism
2. —-ists
3. --ing
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4, --ist

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

The care a child and its mother get immediately after birth is called --natal care.
1. pre --

2. extra --

3. post --

4. ante --

Correct Answer :-

3) Which of the following options best combines the given sentences?

I study French. I study English. I study Russian.
1. Apart from French, I study English and also Russian.
2. Besides French, I also study English and Russian.

3. I study French, study English and also Russian.

4. | study French, English and also study Russian.

Correct Answer :-

» Besides French, I also study English and Russian.

4) Choose appropriate article for the given sentence:

I have been working all day. I would like to go and watch drama.
1. an
2. the

3.a
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4. no article

Correct Answer :-

5) Choose appropriate articles for the given sentence:

campfire is small fire you build when you camping.
1. A ... no article required
2.A..a

3. No article required ... no article required

4. No article required ... the

Correct Answer :-

6) Choose the appropriate option that rewrites the given sentence in its passive voice.

David broke the window accidently.

1. The window was broken accidently by David.
2. The window broke accidently.

3. Accidently, window was broke by David.

4. Window broken accidently by David.

Correct Answer :-

» The window was broken accidently by David.

7) Choose the appropriate option that rewrites the given sentence in indirect speech.

Vijay said to his brother,” Study hard for the exams.”
1. Vijay advised his brother to study hard for the exams.
2. Vijay asked his brother if he would study hard for the exams.

3. Vijay was advised to study hard for the exams.
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4, Vijay scolded his brother and told him to study hard.

Correct Answer :-
¢ Vijay advised his brother to study hard for the exams.

8) Choose the appropriate synonym for the highlighted word in the given sentence.
A good speaker has the ability to captivate an audience.

1. thorough

2. powerful

3. strength

4. impotence

Correct Answer :-

e strength

9) Choose the appropriate tense to fill in the blank in the given sentence:

Helen Keller's deafness and blindness by a severe illness when she was a baby and her
parents what to do.

1. cause, find
2. caused, doesn't know
3. has caused, didn’t knew

4. were caused, didn't know

Correct Answer :-
» were caused, didn't know

10) Choose the appropriate antonym for the highlighted word in the given sentence.

My family influences how I act.
1. persuades
2. inspires

3. underwhelms

Page- 13



4, affects

Correct Answer :-

« underwhelms

11) Choose the appropriate conjunction for the given sentence.

Scientists could not say with certainty perfect pitch was an innate talent.
1. wherever

2. wherever

3. which

4, whether

Correct Answer :-
e whether

12) Choose the appropriate determiner for the given sentence:

He ate the whole cake and there was left.
1. nothing

2. something

3. anything

4. much

Correct Answer :-

 nothing

13) Choose the appropriate prepositions for the given sentence:

We left the camp early that morning, hiking the lake breakfast.
1. through ... at
2. around ... before

3. into ... after
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4. across ... during

Correct Answer :-
e around ... before

14) Choose an appropriate modal for the given sentence:

It's already past the deadline. You _____ not delay the paperwork.
1. could

2. would

3. must

4, should

Correct Answer :-

15) Choose the option that best explains the highlighted expression:

She doesn't talk about these things because she likes to hold them at arm's length.
1. length of the arms are long

2. avoid discussing

3. at a short distance

4. avoid confusion

Correct Answer :-
+ avoid discussing

16) Choose the option that substitutes the given phrase appropriately.

A solemn procession, especially for a funeral
1. Vigil
2. Hearse

3. Cortege
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4. Mourners

Correct Answer :-
o Cortege

17) Choose the most suitable pronoun for the given sentence:

The lights look so beautiful. lights are expensive.
1. There

2. These

3. That

4, This

Correct Answer :-
e These

18) Read the sentence carefully and choose the option that has an error in it:

Children are very fond about sweets.
1. are very fond

2. Children

3. about

4, sweets.

Correct Answer :-

e about

19) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
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serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

Which animal kills the most people every year?
1. Tigers

2. Lions

3. Sharks

4. Mosquito

Correct Answer :-

e Mosquito

20) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

How should people protect themselves from mosquitoes while sleeping?
1. They should kill as many mosquitoes as possible.

2. They should spray the mosquitoes when they come near.

3. They should not sleep, but keep awake.

4. They can place nets over their beds to protect themselves.
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Correct Answer :-

» They can place nets over their beds to protect themselves.

21) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

How is the mosquito able to transmit diseases from one person to another?

1. It injects a little saliva containing germs.

2. It has the habit of carrying only germs from one person to another.

3. When sucking the blood, it will also carry the germs from that person to another.

4. When it bites, the saliva can result in an itchy bump.

Correct Answer :-

» When sucking the blood, it will also carry the germs from that person to another.

22) Read the following passage and answer the question that follows:

When we are young, we learn that tigers and sharks are dangerous animals as they are big and
powerful. However, as we get older, we learn that sometimes the most dangerous animals are also
the smallest animals. In fact, the animal that kills the most people every year is one that you have
probably killed yourself many times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the other hand, female
mosquitoes feed on animal blood. They need this blood to live and produce eggs. When a female
mosquito bites a human being, it transmits a small amount of saliva into the blood. This saliva may
or may not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
serious as death. Because a mosquito can bite many people in the course of its life, it can carry
diseases from one person to another very easily. Two of the most deadly diseases carried by
mosquitoes are malaria and yellow fever. More than 700 million people become sick from these
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diseases every year. Many scientists are working on safer and better ways to kill mosquitoes, but so
far, there is no sure way to protect everyone in the world from their deadly bites. Mosquito nets can
be placed over beds to protect people against being bitten. Mosquitoes can also be killed with
poisons or sprays. Even though these sprays kill mosquitoes, they may also harm other plants or
animals.

Why do female mosquitoes feed on blood?

1. They need it to live and produce eggs.

2. They like to enjoy their eggs and young babies.
3. They like the taste of blood.

4. The deplore the taste of plant nectar.

Correct Answer :-

o They need it to live and produce eggs.

23) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
“lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

Pablo was spoilt and hated school. How did he get what he wanted to do?

1. He attended school only if he was permitted to take one of his father’s pet pigeons with him.
2. He did not attend school except when it was bright and sunny.

3. He went to school only if he was allowed to paint the whole day.

4. He was very good looking and enjoyed playing with his friends.

Correct Answer :-

» He attended school only if he was permitted to take one of his father’s pet pigeons with him.
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24) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
“lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

Give a synonym of ‘exceptional’.
1. Ordinary

2. Outstanding

3. Irrelevant

4. Insignificant

Correct Answer :-

» Outstanding

25) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
“lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

How did Pablo show his talent for painting?
1. He began painting in school and everyone enjoyed it.

2. He liked painting animals and birds.
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3. He completed his father’s painting in a beautiful and realistic way.

4. He was always painting around his school and home.

Correct Answer :-

« He completed his father’s painting in a beautiful and realistic way.

26) Read the passage and answer the question that follows:

Pablo Ruiz y Picasso, also known as Pablo Picasso, was born on 25 October 1881 and lived till 8 April
1973. He was a Spanish painter, sculptor, printmaker, ceramicist, stage designer, poet and
playwright who spent most of his adult life in France.

Pablo Picasso showed his truly exceptional talent from a very young age. His first word was
“lapiz’...meaning pencil in Spanish and he learnt to draw before he could talk. Being the only son in
the family and very good-looking, he was the thoroughly spoilt. He hated school and often refused to
go unless his doting parents allowed him to take one of his father’s pet pigeons with him.

Apart from pigeons, Pablo loved art and when in 1891, his father, an amateur artist, got a job as a
drawing teaching in college, Pablo accompanied him. He often watched his father paint and
sometimes was allowed to help. One evening his father was painting a picture of their pigeons when
he had to leave the room. He returned to find that Pablo had completed the picture and it was so
amazingly beautiful and realistic that he gave his son his own palette and brushes and never painted
again. Pablo was just 13 at that time.

Who was Pablo Picasso?
1. He played with pigeons.
2. He was a school boy.

3. He was a farmer.

4. He was a famous Spanish painter.

Correct Answer :-
» He was a famous Spanish painter.

27) Choose the right tag:

, haven't we?
1. We have seen this drama,
2. We haven’t seen this drama,
3. They haven’t seen this drama,

4. They have seen this drama,
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Correct Answer :-

* We have seen this drama,

28) Choose the appropriate tense to fill in the blank in the given sentence:

Someone my cake, half of it is gone.
1. will be eating

2. has been eating

3. been eating

4. had been eating

Correct Answer :-
« has been eating

29) Rewrite the following changing the active sentence to passive.

The guests enjoyed the party.

1. The party is enjoyed by guests.

2. The party has been enjoyed by guests.
3. The party was been enjoyed by guests.

4. The party was enjoyed by the guests.

Correct Answer :-
» The party was enjoyed by the guests.

30) Choose the right tag

She hasn't come yet, ?
1. has she
2. haven't she

3. hasn't she
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4, doesn't she

Correct Answer :-

¢ has she

Topic:- General Hindi(L2GH)

1) AT $t 4R A gaTed g3 a1 T8l
gl gipd §
TR 98 art 0t S

IR I ITP! Frasiia gt Tgdl @
3R ST W AR F SR
gl < 3R g Tefza o &1

T TS At @

A1 A & IR 34 Pl -
i30T B R® W BT P 7 WA
9% g oY ez @

3R TR B g P

g Faaad

S LRI 1 Ugh -9 I T WY o1 IR Iaq133:
- g ufe A O fraa gag adi 8 2

1. 37cAT |

.50 W

.34 A

4. ool &

Correct Answer i~

¢ W A

2) AT &I 3R A YaThTd g3 A1 8l
FET iRed o
TR 98 Sdral At 5

$3R q IS Trarie gt et ®
IR I YT AR & SR
figft si7 ofk g:@ saiza & &1

T G At &

4l = TP IR G HeT Ul-

ST Y TRP W BT P A AT
TP
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3R TR B g BT
e Faa TS

ST Ui &1 UghR AId U T Uy &1 3w d153:
- TR U & fg o1 fRiar {59 919 &1 dos 82
1.7

2. 3TEGRIAT

3. 3afaaTH

4, AT

Correct Answer :-

o YT

3) AT B 3% | YATHId g3 AT g1
FET gRed §
TR 98 Sar A S

SR ITP! I el e @
3R I U ATl F SR
gt 9 8k g:@ wefza & &1

T @ISl Adl &

4l = T IR Y™ HeT Ul-

T3 Y W W HI & A |1
T IR

3R TR B Fog BT
T A AT

IWYT U= Pl UG A1 T T U HT 3T qA150:

TS T Sl § Sfd B 7 3 75 R A iR W H S T3 S Fare &t 22
1. GT&yoT &1 feem

2. GFIAT & TahrE I @eiard fGem

3. fasrar &r feer

4, 3T=ROT &r feam

Correct Answer :-

. gigyor &y feam

4) 9f $} $233 | gemeTa g8 AT TR
P ipa g
TR 9% il A 9
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€37 & SUS) AadId gl vea &
3R I U AR & AR
Right i ok g gefza & &1

T @ A dt

A1 4 T IR G el U~

& Y aRw W BT & | |0
g P fem ?

3R TR B Fg BT
gewr S aa T

SUYE UL Bl UgHR A1 YD T Y BT S7R Jd134:
wH- Rt o7 iR g gefza &= &1 urard 82

1. [Sieealt ga W efarer

2. Sieeafl & |y gaEsitan

3. fSlegelt &1 Jeo STea

4. YR & Sieaal

Correct Answer :-

o el & Ty Fgian

5) 4 9 $2R A geneTa g8 AT TR
S5 giPd 3
TR 98 Saml At S

SR A IqH! draid gidl gl &
3R I UT TR F AR
Righ A 8k g:@ Feiza & &1

RTIT @ Sl &

4l = T IR Y™ Fel Ul-
33101 B} TRE W B S A G0
WYY P femm e

3R TR B Fog BT
geuF S aa A ®

I TR Pl Ugh? 12 I TT T PT 3T TAT58:
- giu st ff TRt B g T B &1 wrard g2
1. hadl HTT F [AdF F a1 ©

2. 5gel GfATOT A B W wXh A Aidr

3. gl gheer & Ul FOd @l ©

4. 3qUD HHT

Correct Answer :-
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6) Al P 2R & gardrd g3 AT g
S5 gipa 3
TR 9% Siardt A S

37 A IUP! I Bidt A ®
3R I U AR & SR
gl oA SR g Teiza &= &1

I G AT &
i 9 T R G BT Ul-
SF30T Y TP W B S | AT

T/ P R
3R TR B Fog BT

giourt &t a6t 8

ST TR 61 Ugh: 1 D T T BT IR Ja15d:
U=A- W’ FT ygTgardt g1 82

1.Uq

2. TOT

3. 4ig

4. U7

Correct Answer :-

7) Wi ® YR | gareTd g3 a1 T8l
e ipd §
TR g8 Saral 8 S

$3% & IS Aradid gt ved 8
3R Y U TR & SR
it <7t ofk g aefza & @1

T G ot &

ﬁﬁ@aﬂﬂ'ﬁlﬁwm-

Sféror Bt aRw IR X F Ha A0

98 g B e @

3R TR B Fog BT

gt Sl aa T g

ST U Bl UGH 1d O T T T IR Ja1gd:
T gfeurr &1 faew ghem?

1. Tefdied
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2. dTellch
3. ATAER

4. &

Correct Answer :-

8) Wl Ft SYR | YaATHTd §3 T -Tel
S Givpa g
R 98 Sardl A o

$3R & IYP! araid gt Tgdl B
3R 3T U FeTe! & AR
Right o= iR g3 Jeiza F &1

T @ISl At &

|1 9 U IR YHH el Ul-
Sf30r B aRW U B P Ha FiAT
9% gog 31 femm @

3R TR B Fog BT

Sreah % o T

I U I UgHh -1 U T §Y HT IR Jargd:
- R wreg e F 9 w82

1. gioerr

2. Eiifeiar

3.3 & P A

4. 3HfeIT

Correct Answer :-

9) HT $t IYR I GATHTd §3 T 7Tt
S Gipa ¢
TR 98 oTdral At S

37 A SUP! T St e @
3R IY U AR & AR
gt <7t ofk g wefza & @1

TR et A

A1 9 TP IR G5 Pl U-
ST Y TR% U B F Ad G0
98 g 31 femm @
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3R TR B Fog BT
e Faa TS

ST Ui &1 UghR Ald U T Uy &1 3w d153:
TRA- U7 BT SR A YATPH1d g5 91 Ta 1’ Ufed | SABR 82
1. 9¢g

2. HITAATT

3. g
4. TR

Correct Answer :-

10) AT P SR A YAThTd §3 a7 T8l
e gipa §
TR 98 Sardl B S

SR ¥ ITP! Irad el e @
3R I U TATEl F AR
gt 9 ok g:@ wefza & &1

T Gl At &

4l = TP IR G HeT Ul-
SfEor Yt W W B F qa FAT
T PR

3R TR B Fog BT
gEa R eI

SUT ULl Bl UgHhR AIa U T Uy o1 IR Ia133:
Y- 01 3 3reiraT B A e R e §2

1. Ui

2. 50

.3

4. 3T

Correct Answer :-

11) UT &) $%R A YATPHId g3 971 T8l
F1 gira §
TR 98 Sardt A S
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€37 & TS A gt vea &
3R I WIS AR F AR
Right o7 ok @ gefza & &1

T @ Adt 8

A1 3 T IR G el U

e Y e W BT & | W0
g P fem

3R TR B Fg BT

g I T

ST UL Bl UgHR A1 YD T Y BT S7R Jd134:
WRH- IEI0T B TR® W B &7 31 g2

1. v & wifd

2. 37T & orfd

3. g & IR

4. U 1 AT Bl

Correct Answer :-

12) UI & $3R A YATPHId g3 a1 el
S5 giPd o
TR 98 wara &t S

$oR | ISP AT gt et &
3R I U TRl F AR
Right A 8k g:@ Feiza & &1

RTIT @I el &

Al 4 U IR g H el ol-
3201 # e W B S W Fi=T
WYY P femm e

3R TR B Fog BT
gfear &t aa T8 2

ST TR Bl UGB -1 U T §Y BT IR Ja1gd:
TR TRAT @l A & 3ref 22
1. 3T @rel ofdr

2. JTEAT HACh STl
3. T&d W AAAT

4, T&T T 3T ST

Correct Answer :-
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37 A SUP! I Bidt A ®
3R I U AR & SR
foigh oA SR g Teiza &= &1

I G AT &
i A TP R G BT Ul-
f0T B TR® U B & Ad ST

T/ P R e
3R TR B Fog BT

giourt &t a6t 8

ST TN 61 UG 1 D T U T IR Ja153:
- Fafafea & @ e &1 waiear) 98 @ ?

1. shfaaer

2. pdid

3. A

4. ¢TI

Correct Answer :-

14) Wi F1 3R A YATSd g8 a1 81
ST HRPa 8
TR 98 Siardt A S

$3% & IS AradId gl ved 8
3R W U TR & SR
it <7t ofk g defza & @1

T G Al @

ﬁﬁ@aﬂﬂ'ﬁlﬁwm-

Sféror Bt aRw I X F Ha G0

98 g B feam @

3R TR B Fog HIAT

gt S aa T g

ST U Bl UGH 1d O T U BT IR I
TH- Fafafa §9 gy &1 waibarh 22

1. 3p TT

Page- 30



2. [
3. 3@l
4, deid

Correct Answer :-

15) A T RI F HAHC §§ AT TG
FgeT HRFA T
W g Sardr o S

SoaT ¥ WA ST gt W@t &
3R 3@ wIoT AR F HTAR
el st 3k g sehea &= &1

TEar @ Jer ¥

ﬁﬁwmwmm

gfaor it WE W FT F AT [T

ag g A e @

3R TATS B FEY FA

geftmeht #t ara @ §

3YYFT GEARN FT GGHT A Y& T Y& HT 3 qaA1Sa:
W $eaT { IWAY AT el T § AT H Y eq § -
L&

2. grTreT

3. 3qT

4. 34

Correct Answer :-

16) Ugdl a1a g5 % gwam & aumm aiiigl &t @vg, S9% IRra aral f, Areal 3 O Sifiyd & ok W
AT U9 ATgd UM 9T 41 99 91d | 9 Rgari 4, 91! dev-1iey, W-e7, Uers-aars 994 o 41 aot
& q1d g8 At 1 AR 32 | SIS DI i wieA ardl € SRS & Had g8 uRige &, mid-Age g ar 9y far ot
F WA | YA TSP, AT P AS[S TS, g Wet 3R MeId IR BT T8, 9691 IqP qTgal TG BT 8
YT| T SATH-ITH-] T H18q A 3% RRIBY a8 B U= Age- das@! Hidl, SR JAWT€Ts 1 B
URGYUT gl AT B TTRHI MRAN TATRR 3R FH1 Ft TWREL, T D IU-HAUTE A, St Far=l &
fafere @ 3iik e a1 gt A | gt aoTe At @t srust wfemaa ft 1 39H agRd, oned, IR gihaent &
1Y SAFE 3R FroamT £ 59 ave ge-fieh A 91 3 uiea § $9 wigs 781 91 usat A1 39 o
PTH B $I I A W T8 TPHar UT1 8T, 8 319 3R ATS B B P (I AP HaHT I T Al
SITelt ot 3R URR F aBR Bt avg Furs ot e ot

ST TR P UGHT 19 IR T Y BT IR 9133
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- TR & IR 3 & JaH 98 URS B A2
1. QHAID ol1T

2. AT [ S drel

3. HYW FeAT arel

4, 3TSGT 6T ST TS are

Correct Answer :-

17) Ugel 91a g8 % g™ & qumm aiiiel &t avg, S9% IRTa ard off, Tresl ¥ W Sifiyd & eiR W
AT Y% TTed UH STd A1 59 S1d | 9 RRgzari 4, a1t ev-1iey, WI-¢7, Ues-rams a9 o 4| aot
& 97d g8 A f 9IRS el Bt ST TS a1 B SRSl & Uew 99 Uk 9, Mie-Age s ar A fuar st
F WA | HA TSP, SATSITE! Bl ASTS ASd, Sid Wit SR WM TR P 78, Taedl SHP Jgd! IR a1 8t
YT| T SATH-TTH-]H AT HIGT A S7F RRIBL AP B U ATD-olH asd! Hidl, SHY JW€GD 1 B
TRyt gl AT B TR U TR TR iR A1 Bt ToHST, A IS SU-HUTd ff, 5t derF &
faferes 3t ok et 57 gt off | gt aotg oY 1 oo wfege oY | 39 wgERedt, e, R g %
wuéuﬂaﬁahvﬁrm&mwwmgﬁﬁﬁﬁﬁ%uﬁmﬁﬁma@ﬁwt@?ﬁmlmm
PTH P P s Grg W 78 a1 UT1 8T, 8 319 31X ATS BIH B P [T P! WaHT I T ATl
STl <t 3R TR Y FBR B avg AU ff sl ot

ST T P UgHR A UD T UY $T IR darsd:
- AT @1 faRiwar 78 o2
1. haer fAvusTar

2. el GagIdr
3. el SHAASHT
4. 3UIH T

Correct Answer :-

o 3T [T

18) Ugeh 91d Ug 1% g & qum q1iiel #1 @ve, 39 THRIe ard ff, Treel d @ Sifiyg 3 siv iR
AT U9 ATed U oTd 4| 599 a9 9 fRgwaril A, 9l Agv-Higy, T1-37, Uers-ferars gad i &1 7wt
¥ 919 g8 A f ar 3= © S} F1 5 e aral € SRl & e 98 wRiae &, Wieh-Ag% of ar ik fuar ot
F TRATA | YA TSP, TSI DI ASTS ASd, Sd WIel 3R Wewd TR BT I8, SIGaT IUP AIgd! IR BT &
YT| T SATH-TH-] T 16T A 3P RRIBL TSP B U AD-oIH asd! Hidl, SHY WD 1 B
TRy gt AT B T U enfld TaTfRw SR AT Ft T, § Auiad IU-HU ff, Y HEE &
fafermr 1 3fik e 5911 gt <ff | g aore | 91 vt =ifemaa Y1 3 WaRgRel, TR, IR-gaer &
1Y SAFERY 3R freugar $© 339 axg geil-fireht i o1 3 wiitera @ wu wigs =18 gy usdl ff 1 37 31
P FRAM $I HIS A W T8 TowHar A1l T, TR S 3R FAE FH FA F e IT! Far [ wRew Tk
STt oft 3R TRR T THR B a1 TS ot sl <

ST T Ht UgH= A1 I[P T UY FHT IR 94134
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- 3fya &1 31 82
1. facuer ger

2. QAT Bl

3. PO Bl

4. gaTfacT e

Correct Answer :-

o gTfaa gar

19) g 91 gg % Rgwm & qumm qiikic @1 @vg, 39 TgRTe ard off, areel S @ eifiyg 3 siv iR
AT Y% TTed UH STd A1 59 S1d | 9 RRgzari 4, a1t ev-1iey, WI-¢7, Ues-rams a9 o 4| aot
& 97d g8 A f 9IRS el Bt ST TS a1 B SRSl & Uew 99 Uk 9, Mie-Age s ar A fuar st
F WA | HA TSP, SATSITE! Bl ASTS ASd, Sid Wit SR WM TR P 78, Taedl SHP Jgd! IR a1 8t
YT| T SATH-TTH-] AT HIGT A S7F RRIBY TSP B U AT®-oiH asd! Hidl, SHY 0TS 1 B
U T gl A1 B TIHHI aﬁﬂwﬁwaﬁ?waﬁw 3 A SU- mnqzﬂ Sl BB &
fafereT &t ok et 57 gt off | gt atg oY oo wifege oY | 39 WgEeRedt, e, R g %
wuéuﬂaﬁahvﬁrm&mwwmgﬁﬁﬁﬁﬁ%uﬁmﬁﬁma@ﬁwt@?ﬁmlmm
PTH P P s Grg W 78 a1 UT1 8T, 8 319 31X ATS BIH B P [T P! WaHT I T ATl
STl <t 3R TR Y FBR B avg AU ff sl ot

ST TR P UGHR -9 IR T Y BT IR da1sa:
u=H- grs-feras’ # ugw (-) T @t o pEd 82
1. 3rcufaRTH

2. g Reg

3. qoT o

4. A5t Reg

Correct Answer :-

. O Res

20) Ugd 91d g8 % Rgw™ & qum a1ikicl 91 @ve, S99 IHRId ard o, Treal § @ Sifiiyg 3 siv iR
AT U9 ATed U oTd 4| 599 a9 9 fRgwaril A, 9l Agv-Higy, T1-37, Uers-ferars gad i &1 7wt
¥ 919 g8 A f ar 3= © S} F1 5 e aral € SRl & e 98 wRiae &, Wieh-Ag% of ar ik fuar ot
F TRATA | YA TSP, TSI DI ASTS ASd, Sd WIel 3R Wewd TR BT I8, SIGaT IUP AIgd! IR BT &
Qmwm—m—mmﬁm%ﬁﬁwﬁﬁaﬁaﬁmﬁw-wa@ﬁﬁ,mﬁmmaﬁé
iRyt gl AT B T Hd st Tmfesr iR A &Y W<, @ JviEe Su-wUre off, S e &
faferer 1 3k e 591 gt off | gt aore | 91 oot =ifemaa | 39 W WagRe, e, ﬁvgﬁuwﬁ%
wuéqmmaﬁ?ﬁwmwgvmwﬁ?ﬁﬁﬁ%ﬂhﬁmﬁwa@éqﬁwm?ﬁlmm
BTH B Bt BIS A W 75T qHar AT1 T, T S SR FA15 BTH F F 1€ 7t FaT I FRee /A
STl oft 3R TRR T THR B a1 TS ot sl <

ST TR Ht UgH= A UD T UY HT I 94133

Page- 33



TRH- TR & JHR PiH-U AH=S IuHAUTE A2
1. hael ATAT DI TeAhdr TR warfeer
2.5 ¥ PIS FE

3. hael ATAT HT TATHS]

4. ATAT T TARIT IR Tanfeer 3R a=m i IS S

Correct Answer :-

o AT B FARHY INTEY TarRer 3R A & SHS St

21) Ugdl 919 g8 7 figwam & qum aifiel & avg, 3% IRRTa a1 ff, Wreel ¥ W Sifiyd & eiR W
AT U TTed UH 9Td 1 59 S1d | 9 RRgzar 4, a1t av-1iey, WI-¢7, Uers-rams a9 oiie 4| awt
% a7d g8 A} f g9R S H 3ol ot S TS a1 B SRSl & Uaw 99 Uk 4, Mie-Age s ar A fuar st
F AT | HA TSP, SATSITE! Bl ASTS ASd, Sid Wit SR W TR P 78, Taedl SHP Jigd! YR a1 8t
YT| T SATH-TH-]H T AT A 3P RRPY 8P B U1 AD-oi dsd! Hidl, mﬁmwaﬁs‘
U T gl A1 B TIRHI mﬂ@maﬁ?waﬁw 3 e Su-wA f, S HEr F
faferer &t 3k et a7 gt <ff | gt aore uY 91 ool wifemaa A | S YgERgRel, T, ﬁ?gﬁ'qrc:ﬁ%
wuéuﬂaﬁahvﬁrm&mwsvmgﬁrmmﬁ%mﬁma@ﬁwmmlmm
PTH P P I G W 78 a1 UT1 8T, 8 319 31X ATS BIH B P (I P! WG I T2 ATl
STl <t 3R TR F FBR B avg Furs +ff sl ot

ST TR P UGHR -9 IR T Y BT IuR da1sa:
URH- "URR B B’ geray &1 33 82

1. ITTAHATT

2. 3TEYRAT

3. AT

4. oo

Correct Answer :-

22) Ugdl 91 98 7 fégea™ & qum aificl & avg, S9% WRRTa ara off, Wreel @ w Sifiyd 4 e W
AT U9 ATed A oTd 4| 599 91d 9 9 fRgwaril A, 9l Agv-Higy, 3-8, Uers-ferars gad 3 &1 aat
¥ 919 g8 A fF ar <=1 ¥ S} F 5 e ardl € SRiel & e 98 w3, Wieh-Ag% of ar ik fuar st
F TRATA | YA TSP, TSI DI ASTS ASd, Sid WIell 3N Wewd TR BT I8, SIGaT IUP AIgd! TR BT &l
Qmwm—m—mmﬁm%ﬁﬁwﬁ%aﬁaﬁmﬁw-wa@ﬁﬁ,mﬁmmaﬁé
kYt gt A B T Hd st Tfesr iR I oY W<, @ JviEe Su-wUre off, S e &
fafermr 1 3fik e 5911 gt off | gt aore A 91 ot mifemaa | 39 W e, ey, ﬁ?gﬁuwmﬁ
wuﬁmﬁ@?ﬁwmwgﬁmwﬁ?ﬁﬁﬁ%ﬂhﬁmﬁwa@éqﬁwm?ﬁlmm
BTH B Bt BIS A W 75T qHar AT1 8, T SN SR FA15 BTH FA F 1€ 731 FaT I FRee Af
STl oft 3R TRR T THR B a1 FAurS ot sl <

ST T Bt UgH= A1 UD T UY HT IR 94134
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TR ‘MR’ <eg FT 34 82
19
2. A
3. et

4. I

Correct Answer :-

o UIT

23) Ugd §1d g8 % g & qumm a1ikict 91 @vg, S9% IR ara off, Treel S @ eifiyg A siv iR
AT U TTed UH 9Td 1 59 S1d | 9 RRgzar 4, a1t av-1iey, WI-¢7, Uers-rams a9 oiie 4| awt
% a7d g8 A} f g9R S H 3ol ot S TS a1 B SRSl & Uaw 99 Uk 4, Mie-Age s ar A fuar st
F AT | HA TSP, SATSITE! Bl ASTS ASd, Sid Wit SR W TR P 78, Taedl SHP Jigd! YR a1 8t
YT| T SATH-TH-]H T AT A 3P RRPY 8P B U1 AD-oi dsd! Hidl, mﬁmwaﬁs‘
U T gl A1 B TIRHI mﬂ@maﬁ?waﬁw 3 e Su-wA f, S HEr F
faferer &t 3k et a7 gt <ff | gt aore uY 91 ool wifemaa A | S YgERgRel, T, ﬁ?gﬁ'qrc:ﬁ%
wuéuﬂaﬁahvﬁrm&mwsvmgﬁrmmﬁ%mﬁma@ﬁwmmlmm
PTH P P I G W 78 a1 UT1 8T, 8 319 31X ATS BIH B P (I P! WG I T2 ATl
STl <t 3R TR F FBR B avg Furs +ff sl ot

ST TR P UGHR -9 IR T Y BT IuR da1sa:
TH- - & P AT qHE B 2

1. 68 a4

2. HeTAHT FAH

3. YRV HATH
4, FAYRT TATH

Correct Answer :-

o AT A

24) Ugdl 91d g8 % Rgw™ & qum a1ikicl 91 @ve, S99 IHRId ard o, Treal § @ Sifiiyg 3 siv iR
AT U9 ATed A oTd 4| 599 91d 9 9 fRgwaril A, 9l Agv-Higy, 3-8, Uers-ferars gad 3 &1 aat
¥ 919 g8 A fF ar <=1 ¥ S} F 5 e ardl € SRiel & e 98 w3, Wieh-Ag% of ar ik fuar st
F TRATA | YA TSP, TSI DI ASTS ASd, Sid WIell 3N Wewd TR BT I8, SIGaT IUP AIgd! TR BT &l
Qmwm—m—mmﬁm%ﬁﬁwﬁ%aﬁaﬁmﬁw-wa@ﬁﬁ,mﬁmmaﬁé
kYt gt A B T Hd st Tfesr iR I oY W<, @ JviEe Su-wUre off, S e &
fafermr 1 3fik e 5911 gt off | gt aore A 91 ot mifemaa | 39 W e, ey, ﬁ?gﬁuwmﬁ
wuﬁmﬁ@?ﬁwmwgﬁmwﬁ?ﬁﬁﬁ%ﬂhﬁmﬁwa@éqﬁwm?ﬁlmm
BTH B Bt BIS A W 75T qHar AT1 8, T SN SR FA15 BTH FA F 1€ 731 FaT I FRee Af
STl oft 3R TRR T THR B a1 FAurS ot sl <

ST T Bt UgH= A1 UD T UY HT IR 94134
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WH- Ui 8 2
1. ST’

2. g&ir

3. 987

4, Bl

Correct Answer :-

25) Ugdl 91 g8 [ figwam & qum aifiel @ avg, S9% IRRTa a1 ff, Wreel ¥ W Sifiyd 4 eiR W
AT U TTed UH 9Td 1 59 S1d | 9 RRgzar 4, a1t av-1iey, WI-¢7, Uers-rams a9 oiie 4| awt
% a7d g8 A} f g9R S H 3ol ot S TS a1 B SRSl & Uaw 99 Uk 4, Mie-Age s ar A fuar st
F AT | HA TSP, SATSITE! Bl ASTS ASd, Sid Wit SR W TR P 78, Taedl SHP Jigd! YR a1 8t
YT| T SATH-TH-]H T AT A 3P RRPY 8P B U1 AD-oi dsd! Hidl, mﬁmwaﬁs‘
U T gl A1 B TIRHI mﬂ@maﬁ?waﬁw 3 e Su-wA f, S HEr F
faferer &t 3k et a7 gt <ff | gt aore uY 91 ool wifemaa A | S YgERgRel, T, ﬁ?gﬁ'qrc:ﬁ%
wuéuﬂaﬁahvﬁrm&mwsvmgﬁrmmﬁ%mﬁma@ﬁwmmlmm
PTH P P I G W 78 a1 UT1 8T, 8 319 31X ATS BIH B P (I P! WG I T2 ATl
STl <t 3R TR F FBR B avg Furs +ff sl ot

ST TR P UGHR -9 IR T Y BT Iu da1sa:
T g o1 faeie 82

1.3 § P e

2. 3987

3. |yt

4. HeT

Correct Answer :-

26) Ugdl 91d gg % gw™ & qum a1ikicl #1 @ve, S9% IHRId ard f, Treal § @ Sifiiyg 3 siv iR
AT U9 ATed A oTd 41 599 91d 9 9 fRgwaril A, 9l Agv-Higy, 3-8, Uers-ferars gad 3 &1 aat
¥ 919 g8 A fF a3 § S F 5 e ardl € SRiel & e 98 w3, Wieh-Ag% f ar ik fuar ot
F RATA | YA TSP, TSI DI ASTS TS, ST WIel 3T Wewd TR BT I8, SIGaT SUP HIgd! TR BT &l
Qmwm—m—mmﬁm%ﬁﬁwﬁﬁaﬁaﬁmﬁw-wa@ﬁﬁ,mﬁmmaﬁé
iRyt gt A B T Hd st Tmfesr iR A Y <Y, 3§ JviEe Su-wUrd off, S e &
fafere 1 3k e 591 gt off | gt aore A 91 ot =ifemaa 1 3H WagRe, e, ﬁ?gﬁuwmﬁ
wuﬁmﬁﬁ?ﬁwmwwmwﬁ?ﬁﬁﬁ%ﬂhﬁmﬁwa@éqﬁwm?ﬁlmm
BTH T Bt BIS A W 75T qHar AT 8, T SR SR FA15 BTH FA F 1€ 7t FaT I T2 /A
STl oft 3R TRR F THR B a1 TS ot sl <

ST T Bt UgH A UD T UY HT IR 94134
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- ol 9 araad 82
1. U2

2. TersTelr

3. g
4. T

Correct Answer :-

27) Ugdl 914 g8 [ figwam & qum aifiel & avg, S9% IRRTe a1 ff, Wreel ¥ W Sifiyd 4 e W
AT U TTed UH 9Td 1 59 S1d | 9 RRgzar 4, a1t av-1iey, WI-¢7, Uers-rams a9 oiie 4| awt
% a7d g8 A} f g9R S H 3ol ot S TS a1 B SRSl & Uaw 99 Uk 4, Mie-Age s ar A fuar st
F AT | HA TSP, SATSITE! Bl ASTS ASd, Sid Wit SR W TR P 78, Taedl SHP Jigd! YR a1 8t
YT| T SATH-TH-]H T AT A 3P RRPY 8P B U1 AD-oi dsd! Hidl, mﬁmwaﬁs‘
U T gl A1 B TIRHI mﬂ@maﬁ?waﬁw 3 e Su-wA f, S HEr F
faferer &t 3k et a7 gt <ff | gt aore uY 91 ool wifemaa A | S YgERgRel, T, ﬁ?gﬁ'qrc:ﬁ%
wuéuﬂaﬁahvﬁrm&mwsvmgﬁrmmﬁ%mﬁma@ﬁwmmlmm
PTH P P I G W 78 a1 UT1 8T, 8 319 31X ATS BIH B P (I P! WG I T2 ATl
STl <t 3R TR F FBR B avg Furs +ff sl ot

S TR P UGHR 19 IR T Y BT IuR da1sa:
<A e’ &7 3 §2

1. AThed

2. A&

3. R

4. frprl

Correct Answer :-

28) Ugd 91d Ug % fgw™ & qum a1iRicl #1 @ve, S IHRId ard o, Treal § @ Sifiyd 3 iR iR
AT U9 ATed A oTd 41 599 91d 9 9 fRgwaril A, 9l Agv-Higy, 3-8, Uers-ferars gad 3 &1 aat
¥ 919 g8 A fF a3 § S F 5 e ardl € SRiel & e 98 w3, Wieh-Ag% f ar ik fuar ot
F RATA | YA TSP, TSI DI ASTS TS, ST WIel 3T Wewd TR BT I8, SIGaT SUP HIgd! TR BT &l
Qmwm—m—mmﬁm%ﬁﬁwﬁﬁaﬁaﬁmﬁw-wa@ﬁﬁ,mﬁmmaﬁé
iRyt gt A B T Hd st Tmfesr iR A Y <Y, 3§ JviEe Su-wUrd off, S e &
fafere 1 3k e 591 gt off | gt aore A 91 ot =ifemaa 1 3H WagRe, e, ﬁ?gﬁuwmﬁ
wuﬁmﬁﬁ?ﬁwmwwmwﬁ?ﬁﬁﬁ%ﬂhﬁmﬁwa@éqﬁwm?ﬁlmm
BTH T Bt BIS A W 75T qHar AT 8, T SR SR FA15 BTH FA F 1€ 7t FaT I T2 /A
STl oft 3R TRR F THR B a1 TS ot sl <

ST T Bt UgH A UD T UY HT IR 94134
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UL TAIS’ UG 82
1. §&pd

2. fé&dr

3. BT

4. 33N

Correct Answer :-

29) Uge §1d g8 % figwa & qumm a1ikict 91 @vg, 39 IR ara off, areel S @ Sifiyg A siv IR
AT U TTed UH 9Td 1 59 S1d | 9 RRgzari 4, a1t ev-1iey, WI-¢7, Ues-orams a9 o 4| aot
¥ 919 gg I P aR 31 # e F S e ardl €Y SRi & e 9 uRiee ¥, Wieh-Ag% of ar ¥k fuar sft
F WA | HA TSP, SATSITE! Bl ASTS ASd, Sid Wit SR W TR P 78, Taedl SHP igd! YR a1 8t
UT| T ATH—aH-TH 91d A8 A I9P RRIBY a5 B Ul Agd-oi{ dsa! Fidl, mﬂmﬂwwaﬁé
TREUT it A B e U TR wanfewr iR A1 Y ™, @ A9 Iu-HU f, St HerH &
faferer &t 3k et a7 gt <f | gt aote uY 91 ool wifemaa A | S YgERgRel, T, ﬁ?gﬁ'qwm%i
wuéuﬂmahvﬁm&mwwmgﬁﬁﬁﬂﬁ%uﬁmﬁﬁwa@qﬁwmmlmm
PTH B P I G W 78 a1 UT1 8T, 8 319 3MR ATS BIH B P (1T ITAP! WGHT I T2 Al
Srelt A 8fiR TR Tt TR Ft avg Ayt o St A

ST TR P UGHR -9 IR T Y BT Iu: da1sa:
7H- ‘femae O 8

1. FIATH

2. |l

3. fomam

4. TaQor

Correct Answer :-

30) Ugdl! 919 g8 o fégwa & qaur aiiiel @1 @vg, S TRTd ara off, rgel S @ sifye 3 SR WY
AT U9 ATed A oTd 41 59 a9 o fRgwaril A, 9l Agv-Higy, 3-8, UeTs-ferars aad 3 &1 7t
¥ 919 g8 A fF ar 3= ¥ S} F S e ardl € SRiel & e 99 wRia® &, Wieh-Ag% of ar ik fuar ot
F RATA | YA TSP, TSI DI ASTS ASd, Sd WIell 3T Wed TR BT I8, SIGaT SUP HIgd! TR HT &
YT| T ATH—aM-H 914 189 A 39 RRBY dsd $I AT ANH-ol{ dso! AU, ITA AATHS .1 His
TR&EYT gt AT B T U iR BT SR AT Ft T, § Auiad Su-wU f, S e &
faferm 1 3fik e 591 gt <ff | g aore | B vt =femaa A1 3 WaRgRel, AR, IR gaer &
1Y SAFERY 3R frsugar $© 339 avg goil-fieht i o1 3 wiitera @ wu wigs =18 Ay vsdl F 1 37 31
BTH BT Bt BIS A W 75T qHar AT1 T, T SN SR FA15 BTH FA F 1€ 71 FaT I FRe2 Af
STt oft 3R TRR T THR B avg TS ot sl o

ST TR Ht UgH= A1 UD T UY T IR 94134
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URH- "ASHT FT I Wsg SR 2
1. ST
2. Aol
3. SIS

4. °lchg

Correct Answer :-

Topic:- Mathematics (MAT)

1) Write the cubic polynomial whose sum of zeros, sum of product of its zeros taken two at a time
and product of zeroes respectivelyare 4,1, and-6:/

qE O 9gUG S, forad TRl F1 A, 3HE YT H F AUAGA H AN TH aR H & o w4 AR
YT FH FT AUTTRA FAW: 4,1 3 -6 T

1_x3+4x3+x—6
3 _ a2

2. % dx +x+g

3_x3+='1-x2+x+r5

4 ¥ —dxt+x-6

Correct Answer :-

x3—4x2+x+6

2) Ifa > 0 and b < 0, then the point P(a,b) lies in: /
gfda > 0Td b < 07, @l fig P(a,b) T 3:

1. 2" quadrant / fe<fta Tgufar

2. 4™ quadrant / =Y =i
3. 3™ quadrant / e Trqafer
4. 1%t quadrant / GUH ﬂa?-ﬁQT
Correct Answer :-

o 4t quadrant / Trge Tqgafer
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3) A figure on a graph sheet covers 10 fully filled squares, 8 half-filled squares, 3 more than half
filled squares and 6 less than half-filled squares. Find the total area. /

TH I XM IR TH SAidbsT 10 971 &1 Quf =7 A, 8 I HY 3T, 3 AN B M T 34 3% 6 a7 Bl
Y A FH YT 81 T ST Fd B

1 15% sq units / 15% a9t TR

2.21 sq units / 21 T3 FHES
3.23 sq units / 23 T ZHE
4, 17 sq units / 17 I HS

Correct Answer :-

« 17 squnits / 17 T S

4) If the CSA of a solid right circular cylinder of height ‘h’ and radius ‘r’ is one-third of its total
surface area, then the correct formula is: /

I v T U1 o PSAT A UF 3 W A ol F a9 YOI &G IS Fol YOI &lhel
&1 vw-fags B, sue Wl 97

3.2h=r

4. h=2r

Correct Answer :-

e« 2h=r

5) Four equal rectangles with length ‘a’ and breadth ‘b’ are joined to form a bigger rectangle.
Denote the area of bigger rectangle as x. /

AHITS ‘a’ 3R dISTE 'b'ald IR YHI ATl &l U 93T 3Tad I & fow A s g1 x & 0§
TS ATYd & &THhd I S|

1.x=4ab

2. ab = 4x
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3.x=4a+-’}b

4.x=4v+ab

Correct Answer :-

. x = 4ab

6) What are the additive identity, additive inverse and multiplicative identity of -1? /
-1 % YRS TP, TS Hiaai 3R OIS iy o1 872

1.0,1,1

2.0,1,-1

3.0,-1,-1

4.0,-1,1

Correct Answer :-

7) What is the predecessor of 218010? /
218010 @1 ydadf I farast 82

1. 228010

2. 218011

3. 218009

4. 218000

Correct Answer :-
« 218009

8) Which property can be used to solve this problem? Find the solution. /
39 U DI g4 B & e for ot o1 Iuan fasan s Awdn 82 g9 9 B
98654.7%726+ 98654.7%274 =?

1. Associative; 98654700 / ?ﬂBﬂIfEUI; 98654700

2. Both associative and commutative; 98654700 / TTead Ud HH-faFH 701 GH1 ; 98654700

3. Distributive; 98654700 / fadRoneaa o1, 98654700
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4. Commutative; 986547000 / sa-fafaad= aor; 986547000

Correct Answer :-

« Distributive; 98654700 / faarumcae IoT; 98654700

9) A triangle and a parallelogram are on the same base and between the same parallels. The ratio of
the area of triangle and parallelogram is -/

TH YW 9 TR IgUs T SIYR TR 9T TUE R Y@rs & §i fRua §1 Ay aur gasiaR
IgYT S A PTIGUE B

1.1:3
2.1:2
3.2:3

4,3:4

Correct Answer :-

10) Foran equilateral APQR, the vertices Q and R are (-3.0) and (3.0) respectively, then the 3rd

vertex P is: /

Ueh HHIE APQR & forv ot Q ua R waen (-3.0)vd (3.0) 8. b ciienr o P&

(03-3)

1.
§ (053)

3.(0,3)

4. (0,4)

Correct Answer :-

(03-5)
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— . . - n - T =
If X is the mean of 11 observations X4,X5,X3, .........X,.then 1-:1(11- —x)= S

TRE N TRTIT Xy, %5, X5,  eveeve e Xy B AT X &, Al L1, (0 — %)= [
.

2. ¥
3.1

4.0

Correct Answer :-

12) The polygon having interior angles 117° 63° 52° 128°is: /

117° ,63° 52° 128" 37 Neh ShivTaTell SgaTat &

1. Concave / 3Tddel
2. Regular / 98
3. Convex / 3del

4. Convex and Regular / del 3R @&

Correct Answer :-
e Convex / 5ddl

13)
In AABC, D and E are points on AB and AC respectively such that DE[BC, AD = x, DB=x — 2,
AFE= x+2,andEC=x—1 thenx=__ '

AABC #, AB3RACW w#er D 3RE g 59 9K § T DEIBC, AD = x, DB=x — 2,
AE= x+2, W EC=x—18.dlx=___|

1.1
2.3
3.0

4.4
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Correct Answer :-

.4
14) One angle of a decagonis 90°and all theremaining nine angles are equal. Then the measure of
the other angles is: /
Tah GRS T U HioT 90°HR T T Al FHIOT SRI&X §, dr e PO AT AT E:
150¢°
1.
5. 120°
95e
3.
115°
4.

Correct Answer :-

150°

15) In APQR. PQ=3 cm. QR=4 cm then which of the following is not the side of atriangle : /

APQR #, PQ=3 H#H.QR=4 T & A Teafaf@d & & wia-ar Bt T ogarr =1t &

1.7 cm /7 S
2.3cm/3 T
3.2cm/2 gt
4.5cm/5 4t

Correct Answer :-

o 7cm /7 ot

16) If atb=2ab then the value of 1 + % is:/
[«

gfe a+b=2ab & @ §+i$r A
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[ )

|

2,
3.2

4.4

Correct Answer :-

17)  Given AABC2ADEF and AABCS#AFDE then which of the following is not true? /
AABC2ADEF 3R AABC#AFDE f&ar arm &, af foreaAferi@d & & wia-ar F6r 761 67

1. CB=EF

2. BC=FE

3. AB=DF

4. AC=FD

Correct Answer :-

« AB=DF

18)  Find who spends second least on fencing from the given table.
Name Shape ofland Length of one side
Abhi Equilateral triangle 30m
Sanal square 0m
Mohan Regular pentagon 60 m
Suresh Regular hexagon 30m

& a5 arfeleT ¥ A1 B o 915 e 9RO e A
eI hicd Xl g7

oTE A T 3SR Teh ol H eals
3far SEEIREES] 50 Hiex
efel aat 70 Hiex
Higel TH T 60 HieY
qXer TH gl 30 Hiex
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1. Abhi / 31T
2. Suresh / QA
3. Mohan / #Higd

4, Sanal / I

Correct Answer :-

« Suresh / g

19) Inatrangle PQR. 2P=59Y, 2Q=607 and ~R=61" . The largest side of the triangle is: /
T el PQR #, £P=597, £Q=60" 3R £LR=61°§1 Tegar T ey a7 &= &

1 2P

2R
2.

3. PQ

4. QR

Correct Answer :-

20) Find the 3rd zero of the polynomial x*+7x2-2x-14 | if two of its zeroes are —/Zandy2/

SEUE *+7x7-2x-14 FT AR ook A L, T 59 o Yoo —V2 T2 ol
1,77
2.3
3.5

4.7

Correct Answer :-
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1, : . cis i
x= -3 ,y=is the solution of the equation -2x+5y=k then the value of 'k’ is:, /
=

R x=-3 TG y= TEGOT 2x+5y=k % g L. ar K F AT &

1.-7
2.-5
3.7

4.5

Correct Answer :-

22) Choose the digits from the options to fill the blank space of the following humber so that the
number formed is not divisible by 3:

__9745/

Frafefaa den & fred WA o 41 F e Al & 9 3! o1 999 &8 o9 5 399 arclt I=n 3 3
faurfora = g1

__9745
1.986
2.875
3.768

4.392

Correct Answer :-

e 7638

23) Choose a set of like terms from 9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b. /
9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b T T UGl & TP Y= BT T4 P
1. 9a2b, 5ba?

2. 9a?b, 4ab, 5ba?, 7b%a, 3ab

3. 4ab, 4a, 4b

4, 9a2b, 5ba2, 7b2a,
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Correct Answer :-

« 9a%b, 5ba’

24) ABCD is a parallelogram and E and F are the centroids of triangles ABD and BCD respectively. If
AC=12 cm, then EF=?/

%\BCDI{T:F FHHR agYe & SR E o F wasr: Ays ABD 3R BCD & ¥5& 1 afd AC = 12 I
@ EF =2

1.2 cm /2 9+
2.6 cm/ 6 IH

3.4 cm/ 4 QY
4.8 cm/ 8 I

Correct Answer :-

e 4dcom/4TAT

25) Ajay has a plot in the shape of a regular hexagon. He buys a plot that shares a side with one of

the sides of the hexagon. The new plot is in shape of a square with area ‘4a2’ m2. Find the total cost
of fencing land owned by Ajay at rate of Rs. 453/m? /

3T & URT G T YW ATHR & Y T TH chel 81 98 TP 3T Y FT chsl WiladT § off 99
YeUs & PRl § A fonddft uer fpaR & 1Y fH=TRT T1en St 81 778 Yy o1 gt iR § Rraer
ATE ‘4a2 M2 §1 3o/ & Wi aret YT & 453 Tud/Hex F R A 918 TN &1 $d AR 714
B

1. Rs. 7248a / 72482 TUX

2. Rs. 9060a / 9060a T2

3. Rs. 8607a/ 8607a U

4. Rs. 7482 / 7482 Tu

Correct Answer :-

 Rs.7248a/7248a ¥ud

26) are logical consequences of the accepted axioms. /

_ iopa Rigial & arfde ufoma g1

1. Conjectures / 3] HTeT
2. Theorems / U
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3. Postulates / 3TTHYRON
4, Corollaries / SUUAT

Correct Answer :-

o Theorems / UAT

27) 0,1,1, 2,5, 8,13, 21, 34, 55... and so on is a sequence hamed after the mathematician

-

0,1,1,2,5,8,13, 21, 34, 55... 3R 3] e M, TP 3AJHH T Sl TG &
THWREI

1. Euclid / gfFels
2. Thales / ¥g

3. Fibonacci / Eﬁlgal?—\ia
4. Pythagoras / UTSATNRH

Correct Answer :-

« Fibonacci / ®ISd T

28) The price of 12 plates and 8 glasses is Rs. 528. If price of one glass is Rs. 18, then what is the
price of 6 plates? /

%Ztaﬁaﬁvsﬁralﬁmqmszswﬁ%m%wﬁmmmqw 18 ¥ g, A 6 Wiel &1 g fha-
?

1. Rs. 292 / 292 3ux
2.Rs. 192 / 192 30X
3. Rs. 200 / 200 Tu&r

4, Rs. 384 / 384 3U¥

Correct Answer :-

« Rs. 192 / 192 30

29) The area of a circle that can be inscribed in a square of side 8 cm is /

8 WAl ofaT AT U T & AN 9 TH g & &ABA Bl

247 sqem /24w aal AT

1.

Page- 49



5 167 sqem /16w I AT

3 36 wsqem /36w 9 AT

4 6T sqcm 6 gl THT

Correct Answer :-

167 sqcm /16w I AT

30) The word ‘Jiva’- half-chord from Aryabhatiyam translated into Arabic also means -/
TIYTH F g ‘ST — BT PTS Bl 3RA1 H srafed ded wggered W ghmi
1. Tan / EGT (%7[)

2. Secant / Hehec

3. Cos / SIS (1)

4. Sinus / ST (A1)

Correct Answer :-

o Sinus / TIT (HATSTH)

31) The ratio between any two adjacent Fibonacci numbers (after 3) is about 1:1.6. This ratio is
called as -/

ot oft Y 3w fpae! T=mai (3 F 1) F S BT FuTd, T 1: 1.6 81 59
3UTd B Sl oTdT 8

1. Golden ratio / ‘i|c’3:| §|§|?3||
2. Fibonacci sequence / ISEIGED 3h A

3. Golden triangle / 9TTeSe ﬁSjGr
4, Liber Abaci / foraT 39y

Correct Answer :-

» Golden ratio / 1ilc%'_-l i’lﬁldl

(8,—2)and (3,—-6) i

32) The distance between the points ./

o= (8, -2) 9uT (3, -6) F AT B gt 21
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V40 units / /40 SIS

V41 units / V4155

2

V31units / V31555

4 V46 units f v%?éﬂ—ﬂ'é

Correct Answer :-

V41 units / V41 E_CFl_é'

33) The graphic representation of the equations 3x + 2y = 5 & 9x + 6y = 6 gives a pair of: /
THHI1 3% + 2y = 5 TG 9x + 6y = 6 B ATAW! A= T4 3 &:

1. Intersecting lines / wfa=adr Y@@

2. Perpendicular lines / s@ad Y@T

3. Coincident lines / TuTelr Y@T

4. Parallel lines / HHAACER I@IT

Correct Answer :-

« Parallel lines / FAER @W

34) The ordinate of all points on y-axis is:/
y-3i&f IR 9t fageit & wife siw 8:

1. Any number / S FE&IT

2.0

3.2

4,1

Correct Answer :-

« Any number / P &I
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35) Perimeter of rectangle with length 76 meter and breadth 48 meter: /
76 Wiex @t 3T 48 Miex N U 3mad 1 ulkamy 2:

1. 240 e
2. 124 #Aex
3. 248 HIeX
4. 126 #He

Correct Answer :-

. 248 HAleY

36) The number of times a particular item occurs in a given data is called its .

T 7T 3iweT # v @AY g & 9T @ arell WEAT F SWHT FgT T 8l
1. cumulative frequency / ot IRERar

2. variation / fReeTdr

3. frequency / SREARAT

4, class size / I AT

Correct Answer :-
e frequency / IRERAT

37) The following sizes of shoes were sold in a day. Calculate the mode.
58,95,6,4,9,3,9,3,6,1,9,7,1,2,9 and 5

fAFfaf@d PR & S wF T F 9 7 qgers ¥ AT F
58,9,56,4,9,3,9,3,6,1,9,7,1,2,9Td 5

1.3

2.6

3.5

4.9

Correct Answer :-

Page- 52



38) A circle has two parallel chords of lengths 6 cm and 8 cm .If the chords are 1em apart and the centre is on the
same side of the chords, and then find the length of diameter of the circle. /

TF g & 6 [T 3T 8 oA war$ Ay &Y wARTAw Shar &1 IR Shar 13 g7 ¥ IR F Sy F /e
g, @ g9 & I At F9E AT F

1. 12cm/ 12 |3
2. 10 cm/ 10 &30
3.5cm/5 @Y
4. 6cm/6 A

Correct Answer :-

« 10cm/ 10 &3t

39) Choose the number not divisible by 3./
3% Renfoa ad @ el ¥ &1 a3 :
1. 67890

2. 453627

3. 99999

4. 75286

Correct Answer :-

e 75286

40) Find the additive inverse of integer 97. /
qUIt 97 T ATTcas Sfdelle AT H
1.79

2.97

Correct Answer :-

o 97
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41) Find the cost of fencing an equilateral triangle of side 64 m at the rate of Rs. 9 per metre. /
64 HieT spon3it a9 TF FHSTg PoeT A 9 FUA Y & ¥ 95 T A GAHT AT F

1. Rs. 1728 7 1728 ¥ud

2.Rs. 2880 / 2880 Tud

3.Rs. 1862 /7 1862 Tu¥

4, Rs. 1674 7 1674 3uY

Correct Answer :-

e Rs. 1728 7 1728 3ud

42) Behavioral objectives are also known as i
THGEIRE 38T A & T H oY I smar g
1. Developmental objectives / [ aTca® 32T

2. Specific objectives / TafrEg e

3. Mastery objectives / aaﬂ?rrqo‘r LA

4. Performance objectives / UG 38T

Correct Answer :-

» Performance objectives / el 3T

43) Reliability of a test means__ ./

o gt Y fAeguaarsrard g

1. Accuracy of test scores / U?Qf&ﬂ 3] Bt Qﬁ"«ﬂ@?ﬂ
2. Development of test scores / TIT&TT 37ehT &7 faepre
3. Consistency of test scores / TI&TT 37ept T FIradr
4. Rating of test scores / TXI&TT 37ep T IfEar

Correct Answer :-

» Consistency of test scores / 1&T 37T & FIrdar

44) Choose the expression which shows the distributive property of whole number. /
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qof F&AT & FATOeA® T aRMfe qrel sqoish T TqT H|
1. 441x(352x568)= (441x352)x568

2. 241(367+543)= 241x367+543x241

3. 831+511=511+831

4. 198+158+217=158+217+198

Correct Answer :-

o 241(367+543)=241x367+543%241

45) is the creator of logarithm. /
TRTE & AT A
1. Cantor / thex

2. John Napier / STl AU

3. Newton / =gcdl
4. Sylvester / Rrerdeex

Correct Answer :-
+ John Napier / S AR

46) ‘Folk algorithms’ of mentally performing number operations, also for measurement, estimation,
understanding of shapes and aesthetics prevailed in the i

ATt & & Braneler st @frar 1wl veaniesm, St s Arde, s, spfat sk st awsr &
sy, #Ayafaasl

1. Formal Education/m farem
2. Universities / farafaarery

3. Villages / 3T1d

4. Schools / faaTer

Correct Answer :-

o Villages / 3Tq

47) ‘Bija Ganita’ and ‘Siddhanta Siromani’ are the two important works of ./
et A 3R Riguea RwRr ¥ & Ageaqut F1Y §
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1. Bhaskara-2 / HTERI-2

2. Narayana panditha / TRTIOT Ufsc
3. Varahamihira / GRTETATET

4, Mahavira / #AGAR

Correct Answer :-

o Bhaskara-2 / #HTEhI-2

48) The classification of Audio-Visual aids was done by ./
HeT-7eF (3HTSAN-RAparen) werasl &7 @offetor _ q@rr RRam awm anl
1. Krathwohl / sh&arel

2. Edgar Dale / USIR 3¢

3. Bloom / e[H

4, Anderson / Us{dd

Correct Answer :-

« Edgar Dale / USIR 3ol

49) The main logical tool used in establishing the truth of an unambiguous statementis ./
TUSE FHUT H HTATS Y FAT F 7 T AT Afbd A& ____ 1

1. Deductive reasoning / STTES I

2. Axiomatic reasoning / TaITAG b

3. Logical reasoning / dTfehed dch

4. Inductive reasoning / 3TITHATCHD SE

Correct Answer :-

 Deductive reasoning/ﬁ"’lﬂ:lwaé

50) If the co-ordinate of a point is (2, -3), then which quadrant it belongs to? /
It v fig &1 Wi (2, -3) 3, @ 97 e aquir @ @& 82

1. I quadrant / I agier
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2. IV quadrant / IV ﬂ?j?-ff A
3. 11 quadrant / Il agfer

4, 111 quadrant / III Iqufer

Correct Answer :-
e IV quadrant / IV E@QﬁQT

51) Number of tickets sold for 5 football matches are 20378, 19872, 20417, 32473 and 23473. Which
number is closest to 20000? /

5 Gedter dA9i & T a9 av Rl A d=AT- 20378, 19872, 20417, 32473 31 23473 ¥ Fia- e
20000 ¥ fasean 87

1. 20417
2. 19872
3. 32473

4. 20378

Correct Answer :-

52) A car takes 2 hours to reach a destination by travelling at 60 km/hour. How long will it take while
travelling at 90 km/hour. /

wrﬂ'\raﬁ60mmﬁm#mmgmwwq§aﬁﬁzﬁm%woﬁm"r/'aiaaﬁr
wﬁ#wmgmsﬁmmml

1. 1 hour 20 minutes / 1 €T 20 f&<e
2. 2 hours 40 minutes / 2 el 40 fAae
3.2 hours /2 ©¢

4, Thour 30 minutes / 1 ©eT 30 fAeTe

Correct Answer :-

e 1 hour 20 minutes / 1 €T 20 fFe

53) The circumference of a playground is 44 cm. A circular track of width 4 cm lay outside around it. The

area of the circular track is: / T &el & AT HT g 44 Gt §1 s9F IRT 30X 6T & 4T Ay
disté arem TF gAT 9T T AT T F AT o

Page- 57



54) If the difference between the numbers obtained on dividing a positive number x by 5 and
by 3is 1. Then: /

e TP YATHS BT x B 5 3 3 I U s R ure S=msil & o &7 3iav 1 €, al:

X X

37175
1.

3 5
2.

X 3‘('-_1

5 3
3

3 5
4.

Correct Answer :-

55) Siya attended a mathematical ability test where (+3) marks are given for every correct answer,
(—2) marks are given for every incorrect answer and (-1) mark for every unattended question. Siya
scored 80 marks though she got 34 correct answers and left 10 questions. What was the total
number of questions for the test? /

Rrar 3 ve T edr gdienr # YT ferm Siel Ude Hel 3R & i (+3) Siw oy i &, Ude Tad 3W)
¥ g (-2) 9w R oirat § ok vd® Wy rgaia uy & e (-1) 81 Rrar = 80 8w v farw, graifes 39+ 34
T ST 12T 3R 10 Uy 1 5@ U SIS Ru) wien & vl ¥t oo Towm fFa-t Az

1. 48 questions / 48 UH
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2. 50 questions / 50 U4
3. 75 questions / 75 UH

4. 60 questions / 60 UH

Correct Answer :-
+ 50 questions / 50 UH

56) Continuous evaluation is meant to emphasize on ./

FAdqeidd W R ¢+ & fae grar gl

1. retesting and feedback of evidence to teachers and students only / Had fR1eh] 3R BET & %'Q qied
BT TAORIE0 3R ufafoear

2. diagnosis of learning gaps, use of corrective measures only / el 3TTAITH Tl Eﬁfﬁl?:l?f,
FURTCHD ST &l SUATIT

3. all of the above / 3Uh Y

4, regulation of assessment in total teaching-learning purpose only / Had Fl'q;Uf Rreror-sifen | W
D1 faf e

Correct Answer :-

« all of the above / U T

57) An Autocratic style of teaching is also known as ./

Rreror &Y uw PR (Sifeikhie®) At B $ =q H ff S e g1
1. Informal style / 3T=iaaTiRe el

2. Integrative style / U?ﬁ@_cf et

3. Student-centered style / SH-hiegd el

4. Teacher-centered style / f&TeR-dhiega Ael

Correct Answer :-

o Teacher-centered style / f&Teh-chfeger el

58) 1¢ 3x +3x+....100 times =150, then x= /

zrﬁ; 3x + 3x+... '100'[131 =150 %' & x=
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[

W] =

Correct Answer :-

1
.2
59) Negative Reinforcement precedes the response and succeeds the response. /
TPRIAD Yo e ufafhar S Ugd gidr g 8k wfaferar & gyTd ghar 3|
1. punisher / €3 GIdT (3 S dTell)
2. prover / T &l dTell

3. prediction / E@EFQIIH

4. investigator / 3=d¥eh (ST H dlell)

Correct Answer :-
« punisher /&3 &Il (3 &« dTell)
60) p:5+4 = 9(T)
q:5x(-12)<-100(f)

The truthfulness or the falsity of statements we use in daily life is called its

/ pi5+4 = 9(T)

q:5x(-12)<-100(f)

e Siige # HR gRT SUONT fPu SR aTd YT S AT AT SAdT S Hgl oar gl
1. truth value / T AT

2. conjunction / TSI

3. connectiveness / TATSThdT (haAfdedad)
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4. falsity / I8cAdT

Correct Answer :-

e truth value / I HATA
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